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Fill in the blank choosing the correct word.
His problems had a bad on him.
(1) affect (2) effect (3) afaect (4) consequent

52.

The following sentence does not have punctuation marks. Choose the correct punctuated
sentence.

Raju said to me why do you blame me
(1) Raju said to me, “Why do you blame me ?”

(2) Raju said to me : why do you blame me ?
(3) Raju said to me - ‘why do you blame me 7
(4) Raju said, to me : ‘why do you blame me ?’

53.

Identify the clause.

The time when the boat leaves is not yet fixed.

(1) Noun clause (2) Adjective clause
(3) Adverb clause (4) None of the above

54,

If I had known their languages I have asked them many things. No error.

A B C D
Spot the error in the sentence. The error, if any, will be in one part of the sentence. The
letter of that part is the answer. If there is no error the answer is ‘D’ (Ignore the errors of
punctuation if any).
1 A (2) B 3y C 4 D

55,

Match the following :

(a) Optimistic (i) a person who does not believe in God
(b) Atheist (i) one who hates knowledge

{¢) Misologist {iii) one who acts against religion

(d) Heretic (iv)] one who looks bright side of things

Answer options :

@ (& (@@ ()

(1) (w) @) @@
2) v) @ () (i)
@) vy @ @) (i)
4) (v) @) @ ()
56. Radha is an of the Women's College, Varanasi.
Choose the correct word to complete the sentence meaningfully.
(1) alumni (2) alumna (3) alumnae (4) alumani
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57. Fill in the blank.

The wedding will next month.

(1) Come off (2) Come out (3) Come up (4) Come to
58. Choose the correct question-tag for the following statement.

‘T helped you immediately’.

(1) no? (2) didI? (3) Isn'tit? 4) didn'tI?
59. (I) Either Sham or his friend has bocked tickets.

(), Ram as well as Sham were present.

Identify the correct sentence.

(1) Only (I) is correct (2) Only (II) is correct

(3) Both (I) and (II) are correct (4) Both (I) and (II} are incorrect
60. We should give a wide berth to bad characters.

Pick out the correct meaning to the underlined phrase.

(1} keep away from (2) publicly condemn

(3) give publicity to (4} not sympathise with
61. Identify the word spelt correctly.

(1) Mathematecian (2) Mathametician

(3) Mathemetician (4) Mathematician
62. Recognise the part of speech of the underlined word :

‘It's twenty years since I have seen her’. ‘

(1) preposition (2) conjunction (3) adverb (4) pronoun
63. You said to her, “[ have called my friends.”

Select the correct indirect narration of the above sentence.

(1)  You said to her that I have called my friends.

(2) You told to her that I had called my friends.

(3) You told her that you have called my friends.

(4} You told her that you had called your friends.
THEAT HIATHIG! ST /SPACE FOR ROUGH WORK
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Fill in the gap in the following sentence with a correct answer from the alternatives given
below :

Use the correct form of the verb.
‘Dr. Kumar has a new book on English Grammar'.
(1) bring up (2) bring about (3) bring tolight (4) brought out

65.

He got across his ideas of progress by a Power Point presentation.
Select the correct meaning of the underlined.
(1) reached out (2) communicated (3) recovered (4) persuaded

66.

Recognise the type of pronoun of the underlined word :
‘He saw himself in the mirror’.
(1) Personal pronoun (2) Possessive pronoun

(3) Indefinite pronoun (4) Reflexive pronoun

67.

Fill in the blank with a suitable idiom.

You should his past services.
(1) consider (2) take into account
(3) took into account (4) granted for

68.

Identify the voice.

We shall be blamed by everyone.

(1) Active voice

(2) Passive voice

(3) Both Active sometimes or Passive at others
(4) None of the above

69.

Pick the correct phrasal verb and fill in the blank.
When I drove past the embassy, a bomb suddenly .
(1) Fall out (2) Went off (3) Moved out (4) Put off

70.

Choose the appropriate synonym for the word ‘fade’ underlined in the following sentence
from the alternatives given below :

"The sun has faded the curtains’.
(1) dim (2) dull (3) discolour (4) wither
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71. Fill in the blank in the following sentence. Choose an appropriate verb form that agrees
with the subject.
‘The General with all his soldiers killed.”
(1) has been (2) have been (3) are (4) were
72. Everyone clapped.
Select the correct tag question to the given sentence.
(1) Wouldthey ? (2} Don't they ? (3) Won'the? (4) Didn’t they ?
73. Write the antonym of the word given below :
Ancestor
(1} Descendant (2) Fore father (3) Precursor (4) Grand parent
74. The meaning of the word ‘invincible’ is given below in the options. Choose the correct
answer.
(1) that which cannot be conquered
(2} that which cannot be approached
(3) that which cannot be believed
(4) that which cannot be heard
75. I gave the beggar one-rupee coin.
Choose the correct alternative to complete the sentence.
(1) a (2) an (3) the (4) no-article
76. Choose the appropriate synonym for ‘congenital’ from the options given below :
(1} congenial (2) conjugal (3) inborn (4) congruous
77. The following sentence has an error correct it by choosing an appropriate alternative :

‘She is sitting in the library since 3 O’ clock’.

{1) She was sitting in the library since 3 O clock.

(2) She had been sitting in the library since 3 O’ clock.
(3) She has been sitting in the library since 3 O’ clock.
(4)  She is sitting in the library for 3 O’ clock.
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Choose the correct option for the underlined word in the following sentence.
‘The hide of a lion was recovered from the poacher’.

(1) a place where lions hide themselves

(2) a cave of the lion

(3) askinof alion

(4) a place from where one can watch animals or birds

79. He was a king who ruled his subjects with a high hand.
Pick out the correct meaning of the underlined phrase.
(1) conveniently (2) sympathetically
(3) oppressively (4) indifferently
80. Choose the correct grammatical sentence from the options given below :
{1) She gave me hundred rupees note
(2) She gave me a hundred-rupee note
(3) She gave me a hundred rupees note
(4) She gave me the hundred rupee notes
81. Choose the appropriate alternative for the phrase :
‘impossible to read” from the alternatives given below :
(1) indelible (2) illegible (3) invisible (4) infallible
82, Fill in the gap with a correct alternative from those given below :
‘He was sure to win his boss’s heart as he had always proved to be a close to
him'.
(1) confident (2) confidential
(3) confidant (4) credentials
83. He listened to my request with indifference.

Choose the alternative that can replace the underlined word effectively.

(1) disinterest (2) displeasure (3) concern (4) caution
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84. Choose the correct form of ‘the Active Voice” for the sentence given below :
‘[ am interested in Mathematics’.

(1) Mathematics is interesting to me.
(2) Mathematics interests me.

(3) Mathematics always interested me.
(4) 1 take interest in Mathematics,

85. I have no money that 1 can spare.
Choose the correct alternative that can be replaced for the clause underlined.
(1) for sparing (2) to spare (3) with spare (4) for spare

86. The word 'bow’ is a homograph.
It is used in a sentence given below.
Choose the correct option as the meaning of the word ‘bow’ underlined.
“The archer put down his bow and gave a bow to the audience.
(1) to move the head downwards to show respect.
(2) a weapon for shooting arrows.
(3) the front part of a ship.
(4) thecry of a dog,.

87. Fill in the blank with appropriate preposition :
He has been ill last week.
(1) ever (2) for (3) in (4) at

88. A new way of life recently is Consumer culture Which has afflicted Indians.

(A) ® © (D) (E) (F)
Choose the correct alternative that could make a meaningful sequence of the words.
(1) ACDBEF (2) DCAEFB (3) FEDCAB (4) DBCEFA

89. To break the ice isn't a very easy thing.

Pick out the correct meaning of the underlined phrase,
(1) to feed to educate

{2) to be expert in something

(3) to speak first on a delicate matter

(4) to break the glacier
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90. Now everyone is convinced of your honesty so you are free to go.
Identify the type of the sentence.
(1} Complex (2) Compound
(3) Stmple (4) Complex-Compound
91. Identify the mood.
We recommended that the subscription be increased to ten rupees.
(1} Imperative mood (2}  Subjunctive mood
(3) Indicative mood (4) None of the above
92, Form a correct ‘wh~" question for the following statement as its answer :
‘My father is a doctor’.
(1) Who is your father ? (2)  What does your father do ?
(3) What is your father ? (4) Is your father a doctor ?
93. He the victims of the storm.
Choose the correct alternative to complete the sentence meaningfuily.
(1) grieved for (2) grieved on (3) grieved at (4) grieved over
94, Recognise the type of the following sentence. Choose the correct alternative.
‘We appointed her our delegate to the convention’.
(1) Simple (2} Compound
(3) Complex (4) Complex-compound
95. What is the correct antonym for the word ?

‘Memgorable’

(1} forgettable (2) memorial (3) immemorial (4) immoral

oAl HIHMETS I /SPACE FOR ROUGH WORK
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Read the passage carefully and answer the questions given below it :

During the 1850s and 1860s, many people began to experiment with the artistic possibilities
of photography. Landscapes and architecture were popular subjects for early art photographers.
In these two decades, a number of government commissioned photographers to make visual
records of important buildings and natural features in various countries. Photographs were
taken of the scenery in the American West as well as many other major landmarks. Some of
these pictures were remarkable not only for their technical excellence but also for the effort
involved in taking them.

Some of the most dramatic photographs of the mid-1800s are battlefield scenes. The
photos of the American Civil War (1861-1865) made by Mathew Brady and his assistants rank
among, the finest war pictures of all time,

In 1888, George Eastman, an American manufacturer, introduced the Kodak box camera.
The Kodak was the first camera designed specifically for mass production and amateur use. It
was lightweight, inexpensive, and easy to operate. With this invention, picture taking became
a favorite pastime.

The Kodak system also eliminated the need for photographers to process their own pictures.
The Kodak used a roll of gelatin-coated film that could record 100 round photographs. The
plant developed the film, made prints, and then returned the camera loaded with a new roll of
film. The Kodak slogan declared, “You Press the Button, We Do the Rest.” (225 words)

96. According to the passage. Who was Mathew Brady ?

(1) A historian (2) A photographer
(3) A civil war hero (4) A Kodak employee
97. Which of the following is net a subject of commissioned photographers ?
{1) Important buildings (2) Landmarks
(3) Famous people {4) Scenery

98. The word /dramatic’ in the second paragraph could best be replaced by
(1) theatrical (2) exaggerated (3) striking (4) tragic

99. What does the passage mainly discuss ?
(1) Interests of the photographers  (2)  Art of photography
{3) Evolution in photography (4) Kodak camera

100. The word ‘eliminated’ in paragraph 4 is close in meaning to :
(1) heightened (2) prompted (3) pinpointed (4) removed
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101. T WA HISTHR A F4 3 999 w1 e

(a) Hfete fierd (b) WuA Meuw 9ivg

(c) - AEfER FIR (d) ErEEA HiHA

gt I :

(1) (d), (b) () (@) (2) (). (b), (d), (a)

(3) () (d), (b), (a) @ @, ®) ()@ _
(Oir}:joeczs:e the appropriate option for arranging the following events in a chronological
(a) Cabinet Mission (b)  First Round Table Conference

(¢} Gandhi-Irwin Pact (d) Simon Commission

Answer options :
(1) (d), (b). (). (a) (2) (@ (b) (d). (a)
3) (0 ). ®) () 4) (@) (b), (c), (d)

102. 5 1857 Ush FIVT=A Fqcam@ret 1857 =1 33T 3% HHYL AL A 2

(1) it BT (2) HTS TS

() e e Afewe (4) T HRR YT

Under whose leadership did the mutiny of 1857 break out at Kanpur on 5™ June, 1857 ?
(1) Rani Laxmi Bai (2} Mangal Pande

(3} Nawab Wazid Ali Shah (4y Nana Saheb Peshwa

103. 6 Hgarl 1956 Ui S Torrg WiFdrE! T 1S e ?
(1) " (2)  mar ¢ ™ (4) TTE

Where was Samyukta Maharashtra Committee established on 6th Feb 1956 ?

(1)  Mumbai (2) Aurangabad (3) Pune (4) Nagpur
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104, HATEEE FY 1 A= 1858 i} Woil=an A& Hvl o o3 ?

(1) R (2 #fm (3) w7 (a) = fofoum

Who read out the Queen’s Proclamaton at Allahabad on November 1, 1858 ?

(1) Hestings (2) Canning (3) Curzon (4) Lord Linlithgow
105. 3.9. 1893 W&} ‘faven Cafelome Hue' aaf 29 ol ww 5352

(1) Hie = 5= (2) TR Sfae F

(3) TERE Mg TR (4) T O SRR

In 1893 who established “Widow Remarriage Association” at Wardha ?

(1) Phondo Keshav Karve (2) Mahatma jotiba Phule

(3) Mahadev Govind Ranade (4) Gopal Ganesh Agarkar
106. 37T A<t fare

(1) P foe - TR

(2) H FE HES - wE

(3) @ wwEIgY -~ 99

(4) RS I -qo

Choose the incorrect pair of the following :

(1) Kunwar Singh - Jagdishpur

(2) Begam Hazrat Mahal - Lucknow

(3) Khan Bahadur - Awadh

(4) Nana Saheb Peshwa - Pune
107. TRER TEAWE TS A F0 R HoEAE T Fo 7

(1) 3fey7 Tmo T3 FET FEF (IN.T.U.C)

(2) 3w wEIOM A% T8 (LF.L)

(3) e sfew ¥ gfm W (ALT.U.C)

(4) 3fe¥T et AIw ¢S gAY (LET.U)

Which labour association was established by Saradar Vallabhbhai Patel ?
(1) Indian National Trade Union Congress (LN.T.U.C))

{2) Indian Federation of Labour (I.F.L.)

(3) All India Trade Union Congress (ALT.U.C)
(4) Indian Federation of Trade Unions (LF.T.U.)
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108.

22 A

TE e Feessiar 1980 79 g% S04 Aoat e ¢

(1) FEE VSR A

(2) Tt YRS Sl A5 gRE! AL

(3) Ui i fash@ &dfsn (IRDP).

(4) THOM e FEEA.

Which of the following schemes was started in 1980 to eradicate Indian Poverty ?
(1) Jawahar Rojgar Yojana.

(2) Employment Guarantee Scheme for Rural People.

(3) Integrated Rural Development Programme (IRDP).
(4) Minimum Needs Programme.

109.

2011-12 giardt=n Rty Fafdtar sosart fevm sufon fafd w3w @i=an ST o -

L C wrdra fatdten ufaera fe@am (2011-12)
(@) T @ 8.1
(b) 3T (i) 16.4
(c) AT (i) 50.0
(d) reEn (iv) 19.0
ygfdt I

@@ () (@ (@
1 O @ @ @)
(2) (v) @ @ ()
@) () @ W ()
@) G @) @) (@
Match the percentage share of India’s export with its export destination for the year
2011-12 :

Region Percent Share of India’s Export (2011-12)
{a) Europe iy 8.1
(b) Africa (i) 16.4
{c) America (iii) 50.0
(d) Asia (iv) 19.0

Answer options :

(@ () (0
@ @ G G ()
2) ) @ G )
() @) G @ @)
(4) () @) @) @
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110. 9 =t Y=afd® TN 1997 WIS HT FUAM T, N ATHE SV GSHAT AuF Tod 9D .
T T ?
(a) T 3o grfses =ararge fasm
(b) TSR =g it wHa =y gfgus fawm
(c) VRVIMMMKIE Teidie ¥eeg fawmm
TSt FIvd/Fow faum/faum s0ET oy oma ?

(1) (a) ® (2) (b) B

(3) (a) 3 (b) T 4 (2), (b) A ()

The Ninth Five Year Plan was launched in 1997. What was the main focus of this
plan ?

(a) Growth with political and social justice.

(b} Growth with social justice and equity.

() Growth with improvement in the standard of living.
Which of the statements given above is/are correct ?

(1) (a) only 2) (b)only
(3) () and (b) only () (@), (&) and (0

111. 4R Afereaedws e faum faammd =i .
(a) <EIT % AdGFT g2 FH FOHET IHIS! ST
(b) FTRUT S RSS! F9 FAGR Y W FHEUAEIRT JI@t AW,
TAGUH HIR,/ FIOT T/ T aQaT R/ 3Rd ?
(1) ™ (a) (2) w5 (b)
(3)  (a) 3 (b) I (4) I T
In connection with the Indian economy, consider the following statements :
(a) Internal borrowings of the government are chiefly meant to meet budgetary deficit.

(b} External borrowing are meant to meet deficit in balance of payments.

Which of the statements given above is/are correct ?

(1) (a) only (2) (b)only
(3) Both (a) and (b} (4) None of the above
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112. e faa T ey WoeTs] S0 3R ?

(1) Fgomy 2) <7 miaeE

(3) € giex geo (4) <. I E
Who is the Chairman of the Fourteenth Finance Commission ?

(1) Sushma Nath (2) Dr. M. Govinda Rao
(3) Dr. Sudipto Mundle (4) Dr. Y.V. Reddy

113, 2001-02 ¥ 2011-12 T TTFA WRarer a1 Fafdi=n giget adeis! Sivman e ?

(1) 23.6% (2) 21.4% (3) 20.0% (4) TSt FUER T
What was India’s services export growth during 2001-02 to 2011-12 of the following ?
1) 23.6% (2) 21.4% (3) 20.0% (4 None of the above

114. THHTHREAT ST FIATA HEUIq TSIt FIR fUm TaT 31 ?
(1) FEAERATHT I FO FUAYT T YRl $FRE K8 9K 6.
(2) It 31 T ST Hewardl Wi IR,
(3) TIEHMHYT TAHTHRA 909 393 W &,
(4) SIS HIAE TR -
Regarding revenue receipts of state goverrnuments which of the following statements is
correct ?
(1) State Governments do not get any share of taxes collected by central governunent.
(2) Sales tax is the most important source of revenue to the state government.

(3) Grants form significant source of income to the state governments.
(4) None of the above.

115. GERAGTHRT FIU ST TR 3R ?

(1) FEm Uga 3aH - AT 3 TorEe
(2) feeleea Tl saH - AR

(3) Hwd HlaHes difaa &5 - gfy=H S

(4) derdl Stadee difya & - fafes

Which of the following is not a correct matched ?

(1) Kaziranga National Park - Nayaon and Golaghat
(2) Keoladeo National Park - Bharatpur

(3) Sunderbans Biosphere Reserve - West Bengal
(4) Nanda-Devi Biosphere Reserve - Sikkim

FoeAT SISl AT /SPACE FOR ROUGH WORK
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116. YRAES 2011 =01 FHATER THY BRG] Fedd TeRser=n HHw IR,
(1) T (2) fow @) et (4) <em
According to census of India 2011 the Maharashtra ranks in terms of total
population.
(1) Second (2) Third (3) First (4) Fourth
117. e fSeade geg, U1 9 A9de qigs FIEet Tiag o ?
(1) fag sewA (2) wrrmEE I
(3) s IeTEA (4) SiwETEE IEA
Murud, Roha and Shrivardhan tahsils of Raigad district are well known for :
(1} Chikoo Production (2) Dolomite Production
(3} Cromite Production (4) Bauxite production
118. TERTZE HIVE] HROTHS T8 DIHEE 3T 7

(a) TFTHT, oo
(b) FEHTE!, IqFH TR, Aed ITTH

(c) EFEl, A

(d) Togm, AR

FlEtw] FIR faym/ faam atet e/ 7R ?

(1) ™ (a) (2) T (a), (b)
(3) W (o), (d) (4) R (b)

Why is the population density high in Maharashtra ?

(a) Mineral Resources, Irrigation

(b) Agricultural development, availability of labour, growing industries
() Vegetation, Climate

(d) Education, Health

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) Only (), (b)

(3) Only (9. (d) (4) Only (b)

FHEAT FIATHEST AT /SPACE FOR ROUGH WORK
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=0 AT IgA=T
(a) @t (i) HEUMT
(b) e I
(c) tm (iiiy FRW
(d) Fom (iv) et
it 3y

(@ ) (¢ (@
1) (@) G) G @)
(2) () (v) @ @
(3 (v @ @ (i)
@ O (v) (i) (i)
Match the following :

Rivers Their Tributaries
(a) Tapi (i) Ghatprabha
(b) Godavari (i) Pavana
{¢) Bhima (iii) Aner
(d) Krishna (iv) Indravati

Answer options :

@ (®) () (d)
1) @) @ @G )
(2) (@) @) @@ @
Gy (v) @ @ ()
4 @ v () @

120. THIGIHRT YA HIVRIT TS SRS ST SAF T 2
(1) s (2) Frga (3) g (4) W=

Which of the following states of India does not have a boundary in common with
Bangladesh ?

(1) Mizoram (2) Tripura (3) Manipur (4) Meghalaya

FHoeAT RTHIETSN WA /SPACE FOR ROUGH WORK
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121. TS HIUET T TERMZHS Yo e &= 9= 97g 30l $9H oase! 3ed ?
(1) A - gagt - el - gfEEgTs
(2) AR - ARON - Wyt - g
(3) WX - Bfivdge - dRon - wagt
(4) TR - BwEETS - Tagt - RN

In which option the Mountain Peaks in Maharashtra are correctly arranged in descending
order of their heights ?

(1) Torana - Saptashrungi - Salher - Harishchandragad
) Salher - Torana - Saptashrungi - Harishchandragad
)  Salher - Harishchandragad - Torana - Saptashrungi
4) Salher - Harishchandragad - Saptashrungi - Torana

(2
(3
(

122, WIS WOGIET HI0R Saves WG 87 EH Hoo T 2

(1) Frefmt (2) AR (3) e (4) wEE
Which of the following is not declared as Biosphere Reserve in India ?
(1) Nilgiri (2) Karnala (3) Nandadevi (4) Manas

123, TAiawo fashrsar TN Ta9H SIEaiE SIvRdl S el Qe S ?
(a) wguw frafaa 3.
(b) TR A 3 frefg e
(c) -TrEd faher &/ gerul=n SR il s,
(d) YAeTeRUi Huge YAERATE] 3T aiefau,
T FoRy AR faum/ R ST Ry R ?
1) (a) ®¥ (2) (o) F (d) B
(3) ()3 (o) B (4) (2) 9 (b) BH

Which two things should be taken care of while developing the technology from the
environmental development point of view ?

(a) Control the pollution.

(b) Control the growth of industrialisation.

(c) Control the use of perishable and degradable goods.

{d) Increase the speed of reproduction of renewable resources.

Which of the statement/s given above is/are correct ?
(1) () only (2) {c)and (d) only
(3) (b) and (c) only (4) (a) and (b) only
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124, Tt fawas wfeean smfas oftames Fion g == 7 ?
(a) vafaReita yuw, i @ Tt T
(b) 3ENv], &Y, gRaTE 9o
() T@EdH, T, i
(d) RETE TRum, AT &, FAPSIRA
Floda! FIv/ R faum/faum st TR/ oma ?
1) (@ % (2 (a)3 (b) FH
(3) (a)F(d)FH @) (©F (d)FH
What issues were discussed in the 1t Earth Summit on Environment ?
(a) Envi-pollution, Industrial and Chemical pollution.
(b) Drought, Earthquake, Green house effect.
(c) Desertification, Fiood, Land degradation.
(d) Green house effect, Depletion of Ozone, Acid rain.
Which of the statement/s given above is/are correct ?
(1) (@) only (2) (@) and (b) only
(3) (a)and (d) only (4) () and (d) only

125. OIS TUSE R IT9d1 d2a WHGIS! BVl Feead To Fot ?
(1) < F=o el dmaet (2) F@ U Aifecd IR
(3) Tt 9" wEewH 4) HHEES B WA oiE gade Zat

Which of the following organisations started the save Silent Valley Campaign in Kerala ?

(1) Bombay Natural History Society (2) Kerala Shastra Sahitya Parishad
(3) Gandhi Peace Foundation (4) Society for Protection of Silent Valley

126. A Fo=aia GET9 FI0AMETRE) UfEs SEe Heal o ?

(1) 1905 (2) 1948 3y 1972 (4) 1974
When was the first Wildlife Protection Act passed in India ?
(1) 1905 (2) 1948 (3) 1972 (4) 1974
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127. ST G 3Te ?

(1) T TH Yy 39 e s o,
(2) € UH SNafafaudEn T .
(3) T Sul T YRR TR,

(4) T TH TAHA woHE FH A,

What is a foodweb ?

(1) It is a combination of different food chains.
(2) It is a bundle of biodiversity.

(3) Itis atype of tropic level.

(4) Itis a function of climatic change.

128. TTgaT € Aqcmefien = o1 wadT s,

1 T (2) it (3) i (4) =lo wd

The forest conservation is also an indirect conservation of :

(1) Seil (2) Water (3) Animals (4) All the above
129. WHTH FIVR AT TEEaE) faeRaE anga ?

{a) . MO (b) W (c) UAT M (d) iR Bl

Qi 3w :

(1) W (a), (b), (d) (2} I (a), (o), (d)

(3) P (b), (), (d) (4) % (a), (b), (o)

Who from amongst the following are leaders believing in communist ideology ?

(a) AXK Gopalan (b) Ajay Ghosh (c) S.A. Dange (d) Ashok Mehta
Answer options :

(1) Only (a), (b), (d) (2)  Only (a), (), (d)

(3) Only (), (c), (d) (4)  Only (a), (), (c)
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-
@ 2004 - 2009
() 1989 - 1990
(i) 1996 - 1998

(iv) 1999 - 2004

it Sl

(@ (b ( (d)
1) G @ @v)y (1)
(2) () (v) @) (D)
@) () (@) (@ ()
4) () @@ 6v) (@)
Match the pairs :

‘A B

(a) National Front (i) 2004 - 2009
(b) United Front (i) 1989 - 1990
(c) National Democratic Alliance (i) 1996 - 1998
(d) United Progressive Alliance (iv) 1999 - 2004
Answer options :

(a) (b} ()} (d)
1) (@) @) @) (1)
(i) (v} () @
@) @) (@) (v)
4y () () @Gv) @)

—~ e
W R
— et
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131. RAIE ToFeE-=AT SAEeHia et A 9 g & g e Jodl

e -9
(i) ST 9w
(i) TH= AR TR G d3H
(iii) HATIEYE T
(iv) Hfere sgaeen

With regard to the sources of Indian Constitution match List ~ A with List~ B :

et - A
(a) fafen T
(b) HAISSH THERA
(c) oNefoardt gease
(d) STHfER TIEE
et e

@ (b) (o (@
1 v) @) @@ @
2 @O @ @) ()
(3) @) (v) @ (1)
4) @) @ Gv) ()

List- A
(a) British Constitution
(b) Irish Constitution
(c) Austrilian Constitution
(d) American Constitution
Answer options :

@ ® ©@ @
M) Gv) @) @ 0
2 @® @ (@) (@)
() @) (v) (@) (@)
@ @ @ @) (i)

List - B
(iy Post of Vice-President
(ii) Joint Session of Two Houses of Parliament
(iii) Directive Principles

(iv) Cabinet System

HoAT HAMEIE! 5PN /SPACE FOR ROUGH WORK
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132. U9 gEMe famm , q Ted.
(@ ¥ (b) /A () (&) W R
Tt S
(1) FH (a), (), () (2) wH (a), (c), (d)
(3) W (a), (b), (d) 4 (b)), (d)
The subjects in the state list are , and

(a) Agriculture  (b) Land () TForest  (d) Public Health
Answer options :

(1)  Only (a), (b), () (2) Only (a), (c), {d)

(3) Only (a), (b), (d) {4) Only (b), (c), (d)

133. . IEHERA AESH HLAE TEAd® GO@UH] HIU] gaHrd Hea=r ' ScHl 3 gy’

TR ?
(1) G §FF (2) TUITaES FEh
(3) HAH® IYAIl THR (4) 99 @G TRh

Which one of the following rights is described by Dr. Baba Saheb Ambedkar as “The
Heart and Soul of the Indian Constitution” ?

(1) Right to Equality (2) Right Against Exploitation
(3) Right to Constitutional Remedies (4) Right to Freedom of Religion

134. WRETE TAEegai Tavdl S = o ?
(1) 20 (2) 22 (3) 24 4) 126
How many languages are recognized by the Constitution of India ?

1 20 2 22 (3) 24 4) 26

FHoAl HITEES AT /SPACE FOR ROUGH WORK
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135. SIS o
T TRt et @ T
(a) ¥a@ww () ImEm
b) WSS (i) TERE
(c) fazd (iif) ST W
(d) TREE (iv) df=w dme
et 3T
@@ () © @@
O @O @ @i ()
@ @ 0 @
@ G O @ @
@ @ v @ 0
Match the pairs :
Demand for new state Original state
(a) Harit Pradesh ({y Asam
(b} Bodoland (i) Maharashtra
{c) Vidarbha (i) Uttar Pradesh
(d) Gorkhaland (iv) West Bengal
Answer options :
(@) (b) () (d)
M O @ @ )
@ @ O @ @)
G @ 6 @ b
@ @) (v) @ @
136. =N Feo-Ra=a A F0 7R ?
(1) e AT (2) e dFH
(3 fre frem @) f s

Who is the president of the Federal Reserve of America ?
(2) Janet Jackson
(4) Richard Lindse

(1) Janet Yellan
(3) Richard Nickson
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137.

34 A

e faur faaro =0 -

(a) ¥.fz Foa it foaw dH=m e Fgew Fvam e TR

) F.fE Fa I TR SR T T w R AR,

() %.f= Fma I feg faamdieren duos deor 9qe 3.

Tlote! SR/t faum/faum st smed ?

1) @UE) (2 GAIME @ @I @ () b))
Consider the following statements :

(a) K.V. Kamath has been appointed as a head of the BRICS Bank.

(b) K.V. Kamath has served as a Chairman of Infosys Company.

(¢) K.V. Kamath is a member of Board of Governors of Banaras Hindu University.

Which of the statement/s given above are correct ?

(1) () and (b) (2)  (b) and (c) (3) (a) and (c) (4) (a). (b) and (c)

138.

‘ftex AR R, 2015 S0t eer/ v & ?

(1) & saten () efER Fodare
(3) Tz o (4) . e

Who won the ‘Peter Macler Award, 2015 ?

(1) Zaina Irahim (2) Arv:md Kejariwal
(3) Narendra Modi (4) ]. Manjula

139.

RIS TOI@tH! SV Weld 'TH' (AIIMS) T0ed SiLvarel = WEAA o Foi
S R ?
(1 ¥ @ ™ (3) T (4) e

The Central Government has decided to construct “‘AIIMS’ Hospital in which of the
following cities of Maharashtra recently ?

(1) Mumbai (2) Pune (3) Nagpur (4) Aurangabad
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140. Wit Fao TREE 2015 990 WE@IH B faum gwra TR ?
(1) voreee s Aft TwEr Weom sefFdfas a3 R I F k.
(2) ¥ EHA e gE THER STl
(3) Wit e [ER fyefaurar = Seen sfre 3t ..
(4) 1985 WS} W ‘T STHIHAS B 3T T AR’ AR Ui [ww Bl 9l

Which one of the following statements about ‘Nobel Prize for Literature-2015" is not
correct ?

(1} Swetlana Alexijewitsch (Svetlana Alexievich} an authoress and journalist of Belarus
has won this prize.

(2) She is the second journalist to achieve this honour.
(3) She is the fourteenth woman to achieve the nobel prize for literature.
(4)  She wrote her First book named - “The Unwomanly Face of the War’ in 1985.

141. Toe faum faarm =0 :
(a) WU T -4 9 faee wEEeEE U9 St .
(b) TE FIAW JF @R FEU FI@ 9 M S Ui TR T TR

FO@tH! SR/ faume/S SEw emy/q ?
(1) T (a) (2) T (b)
(3) (a) 3 (b) 4) TSt T

Consider the following statements :
(a) Pradhan Mantri Jan-Dhan Yojana is national mission for Financial Inclusion.
(b) Kerala and Goa have become the First in the country with bank accounts for all

families.
Which of the statement/s given above is/are correct ?
(1) Only (a) (2} Only (b)
(3} (a) and (b} (4) None of the above

142. ‘ARG wH AR ?

(1) SE®W T (2) STV A

(3) EXW IuUF (4) SRUESI YT

What is ‘Astrosat’ ?

(1) Space shuffle (2) Space observatory

(3) Defence satellite (4) Communication satellite
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143, IT-UH TAMFHT HITE WRAT ToAHES SHA@T TaH Tga! @ R ?
(1) Tagim, srevras wew ot e
(2) erEvEe wew, fafswn anfn Ame
(3) Tafawm, g sufn d=res
@) g, durea e Tmee

The Inner Line Permit (ILP) system exists in which of the following North-East Indian
States ?

(1) Mizoram, Arunachal Pradesh and Nagaland
(2) Arunachal Pradesh, Sikkim and Nagaland

(3) Sikkim, Tripura and Meghalaya
(4)

4) Tripura, Meghalaya and Nagaland

144. ‘07 I [T e JREUH! IR/ FHE faum ae oed ?
(a) ¥ JEEFR YA T 391 WA fefeoen waiere FEaien Tvam .
(b) 3uSed fofeuran HIoIE SHr=a1 TMRE™ 91 [ERRETE! ¥ae Fal 341,
(€) T [N UG HUHl GHEy e,

it
(1) i (a) 3 (b) (2) HH ()
(3) W (a) 30 () (4) =0 =d

Which of the following statements regarding the ‘Man Booker” Prize is/are true ?
(a) Itis awarded each year for the best novel written in the English language.
(b) Itis open to a citizen of any country writing in English language.

(c) Itcarries a cash prize.

Answer options :

(1) (a) and (b) only (2) (c) only

(3) (a} and (c) only (4y  All the statements
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145. ST BT - (Afed TR TSR 2013) :

(a)
(b)
()
(d)

(1)
(2)
@)
)

“

Match the pairs - (Sahitya Academy Awards 2013) :

(@)
(b)
(©
(d)

‘31'
fe=d
Refteht

(i)
)
)

Hindi

(b)

IA’

Maithili

Rajasthani

Marathi

©
(i)
@)
(i)
0

Answer options :

(b)

—~ e e
[ ]
R N

(a)

(c)
(i)
(i)
(1)
(i)

(d)
(iv)

(d)
(v)

Ga.l

() afae HHEF

(i) 3ffeaw <9
(i) GEEILH
(iv) Wgol T

B’
(i) Satish Kalasekar
(ii) Ambika Dutt
(ii) Sureshwar Jha

(iv) Mridula Garg

AQO7
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146, TEamvl T To=E T8 A=A Wevla wrete faur faamm =0
(a) @ AN YA SR
(b) T 1,500 TET G F 45 WEHG TR FGA O AR
(c) 2014 H¥A T YRRE [ERRHA TG HIAW A0
(d) T STUH o1 Failed A EHR ST A g Tl 69, Mies v faeet "R IR
YA H0I T R,

Fhet®! HoME faur Tttt 3 TRa ?

(1) (@) ST (b) @ () = (o)

(3) (o) ¥ (d) 4)  (a) (b), (c) o (d)

Consider the following statements in regard to Chintamani Nagesa Ramchandra
Rao :

(a) He is an Indian Scientist.

(b) He has written around 1,500 research papers and 45 scientific books.

(c) He was honoured with Bharat Ratna in 2014.

(d) He is awarded with the Japan’s highest civilian award, “Order of the Rising Sun,
- Gold and Silver Star”.

Which of the statements given above are correct ?

(1) (a) and (b) (2) (b) and ()
(3) (o) and (d) (1) (a), (b), {c) and (d)
147. <o fava 7St wife WO 1AW FI97 B4 2
(1) Y. V&g T (2) W ¥TE TR
(3) V. TRHE AR (4) <. fazo am
Who was the President of the 4™ Vishwa Marathi Sahitya Sammelan ?
(1) Prof. Bhalchandra Nemade (2) Prof. Sheshrao More
(3) Prof. Sadanand More (4) Dr. Vithal Wagh

148, TEIGIH! HIUE /RO HE/Arem TG R/ AR ?
© (a) vETS - e W2

" (b) u=m - AHIATg,
() FERIATE - T
qafet 39 :
(1) T (a) 30 (b) (2) & (b) F (c)
(3) T (o) - (4) HE (a) AU ()
Which of the following is/are correctly matched ?
(a) Bhavai - Madhya Pradesh
(b) Theyyam - Tamil Nadu

(c) Kalariyapattn - Kerala

Answer options :

(1) Only (a) and (b) (2) (b) and (c) only
(3) (0 only (4) () and () only
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149. Tt faum foamm =
(a) STaE Aiqar FIEens 2015 THR 162 SHUHT TGN H0 143 97 B
(b) < wida FRETIFER AEESE | THIe el Wa 9 L.
Tt FR/ FauE/3 e SR/a
(1) T (a) (2) = (b)
(3) (a) T (b) (4) ot wHe @
Consider the following statements :
(a) As per Global Peace Index 2015, India is 143" in 162 countries.
(b)  As per Global Peace Index Iceland is the most peaceful country in the world.
Which of the statement/s given above is/are correct ?
(1) Only (a) (2)  Only (b)
(3) (a) and (b) (4) None of the above
150. < - 4 91 e YSISUHT hivT ST HAG Bl ?
(a) <TAH (b) S () wwia
(d) 9@ (e) I (f) e SAfp
it 34
(1) ¥H (a), (b), (c) T (d) (2) T (b), (), (d) A (e)
(3) ¥ (a), (c), (d) TN (e) (4) = (), (), (d) T (B
The G - 4 group includes :
(a) Japan {b) Germany () Brazil
(d) India (e) China (f) South Africa
Answer options :
(1) (a), (b), (c) and (d) (2)  (b), (), (d) and (e)
(3) (@), (©) (d) and (e) 4) (a), (b), (d) and (f)
~00o0-
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ol — (Y= 1 9867 @...)

©) TeIfeEe fafm oo fafre w9 ¥ (T 9%) ST weAyfrraafaftad Seeaferat a1
mmﬁmﬁmﬂﬁmﬂﬁﬁﬂ,mmmawm
TR SRS i S TR iy S afufEn-e2 " ae TEEER e
FUAE A 4 AN AT HAG TH TS FIETER Ao/ HET T T TR e e s
T T

(9) T G S fafia $90 A9 UVEER Sheanel § TR W alal THeHeiet
Fv WA WA AR, WTH THAT SETATRT SOargal SHEE HIYedT ST AR Wil- 1
ATAYERTRE 7 fAEET T T IMATAR AL

W. 3. 201.

. 3. 201.

RS
Y fTER e IWT @I 1 AR 319 wE 2
(1) 37 e @  wifaa €
@) v firdt awea (4 FFE I
IR A I (3) Al Pl Aed’ of R, @ W R S Y (3)" e,
T TSI T F. 201 THe sw-wAew ()" T e P owied F 4 gl
HEAWF 3.

ONON NO

F A TR SRS Y@E Y (N IAehE 6 gRrel et iEee
ITTEEE o & YEENEEEe qaivd qde gt PHifed FET el gERRa
e HTHET VY ST aTaa, I & g 49 9w T
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